
 
Exercise 10h

l
c 34.6 10

2 3.46 10

If 2 3 105 6 105

i 23 million 23 106 2.3 10

I R 16 102 3 10

48 10 4 8 102

Z
o 56 X 103 10 28 10 2.8 x 10

2

Zc 2 104 6 10 12 108 1.2 109

Zf 2 104 6 10
a 12 1.2 10

2 i 2 10
2 8 10

6

c 2 4 10 x 6.6 x co
9

1,584,000,000 I 584 X 10

f 6.8 10 4 0.000000462
7

4 62 x 10

Ji 5 9 103 x 2.5 10 2 147.5
I 475 X 10

Standard Form



3 K l 8 10 X 3 G x 103 2.4 10
2

8640 8.64 x co

6 20,000 ooo ooo ooo 2 x 10

lo
O 000,000,000 I l X 10

Mass 2 10 x I co

Z x 10

2000g

26
14 Saturn 5.686 x 10

Earth 6.04 x 1021

94,179
94 too to 3 s f

Exercise
42 421 4.6 10 x 2.5 1018 1.15 10 1.2 10

2 9.3 x 1033 4.8 10 1.9375 1026

1.9 1026

3 5.2 10 t 3.6 1018 5.56 10


